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L. Solve the following ODEs

@X" P+ p+9y=0, yD=2, y 1) =25 g%

2. Solve the following ODEs by the sssigned methods:

(a) y"+4y=sinx ¥Oy=1, y{(0)=-2 (Method ofundetermined coefficients) (9%)
(B) y'=3y+2p=e, 0)=1, ¥ ) =5 {(Laplace ransfornis) (8%)
3. InFig.l, calculate the Fourier transform of fi1) {8%)

4. InFig.2, find the work done by fores F= ii =I--El-j along the curve C traced vty =cost i+sinr j from =0

o =n  (8%)
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3. Find the determinant ol matrix 4 (10%)
L . o
b 2 i |
|
A=3 -1 2|
4 0 0

6. Ifuand v arevectors in £", prove trinngle inequality Jlu+ vl <|ull+|v (20%)
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7. Prove sin"z-+cos"z=1,wherezisa complex number. (Hint : Euler’s fortaula) (209
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